Official Gifts RECEIVED Register Tasmanian Gutwein Liberal Government I November 2020 – 31 October 2021

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
October	Premier Gutwein, Ministers Rockliff, Archer, Barnett, Courtney, Jaensch, Ferguson, Howlett, Petrusma, Shelton	Qantas Airlines	Qantas Lounge Memberships @ \$600 each	\$600	Retained by the recipient
October	Premier Gutwein, Ministers Rockliff, Archer, Ferguson	Virgin Airlines	Virgin Lounge Memberships @ \$399 each	\$399	Retained by the recipient
3 Nov 2020	Minister Howlett	Tas Racing Club	2 × tickets - Tasmanian Racing Club Melbourne Cup Luncheon @ \$150 each	\$300	Retained by the recipient
13 Nov 2020	Minister Archer	Archipelago Productions	2 × tickets - Bleeding Tree performance @ \$95 each	\$190	Retained by the recipient
19 Nov 2020	Minister Ferguson	Andrew Wilson	I x book - Blue Water Classics by Andrew Wilson	\$60	Remain property of the Crown
20 Nov 2020	Premier Gutwein	Network 10	Donation for an appearance on Have You Been Paying Attention TV Show	\$500	Donation provided directly to Premier's Charity of choice - Red Cross Australia
8 Dec 2020	Minister Barnett	Willie Smiths Cider	2 x cases - Willie Smith Cider @ \$75 each	\$150	Retained by the recipient
8 Dec 2020	Minister Shelton	Forico Pty Ltd	I x book - Fires, Farms and Forests by Robert Onfray	\$55	Remain property of the Crown
9 Dec 2020	Minister Archer	TMAG Foundation	I x ticket - Christmas at Corinda @ \$150 each	\$150	Retained by the recipient
10 Dec 2020	Minister Courtney	Encore Theatre Company	I× bottle - Piper Heidsieck Champagne Cuvee Brut	\$60	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
10 Dec 2020	Minister Rockliff	Forico Pty Ltd	I × book - Fires, Farms and Forests by Robert Onfray	\$55	Retained by the recipient
10 Dec 2020	Minister Jaensch	Forico Pty Ltd	I × book - Fires, Farms and Forests by Robert Onfray	\$55	Retained by the recipient
10 Dec 2020	Minister Howlett	Cricket Tasmania	2 x tickets - Chairman's Lounge BBL Hobart Hurricanes vs Sydney Sixers @ \$300 each	\$600	Retained by the recipient
13 Dec 2020	Minister Archer	Tasmanian Chinese Buddhist Academy of Australia	I x bunch of flowers	\$80	Retained by the recipient
16 Dec 2020	Minister Barnett	Forico Pty Ltd	I × book - Fires, Farms and Forests by Robert Onfray	\$55	Retained by the recipient
16 Dec 2020	Minister Shelton	Cricket Tasmania	I × ticket - Chairman's Lounge BBL Hobart Hurricanes vs Melbourne Renegades @ \$300 each	\$300	Retained by the recipient
17 Dec 2020	Minister Howlett	Hobart Racing Club	I × ticket – Hobart Thousand Final Night @ \$60 each	\$60	Retained by the recipient
19 Dec 2020	Minister Howlett	Cricket Tasmania	2 × tickets - Chairman's Lounge BBL Hobart Hurricanes vs Melbourne Renegades @ \$300 each	\$600	Retained by the recipient
22 Dec 2020	Minister Barnett	Oysters Tasmania	4 dozen Oysters @ \$13.50 per dozen	\$54	Retained by the recipient
2 Jan 202 I	Minister Archer	Cricket Tasmania	2 × tickets - Chairman's Lounge BBL - Hobart Hurricanes vs Melbourne Stars @ \$300 each	\$600	Unable to attend
2 Jan 202 I	Minister Howlett	Cricket Tasmania	2 × tickets - Chairman's Lounge BBL Hobart Hurricanes vs Melbourne Stars @ \$300 each	\$600	Retained by the recipient
4 Jan 202 I	Minister Howlett	Cricket Tasmania	2 × tickets - Chairman's Lounge BBL Hobart Hurricanes vs Melbourne Stars @ \$300 each	\$600	Retained by the recipient
4 Jan 2021	Premier Gutwein	Cricket Tasmania	2 × tickets - Chairman's Lounge BBL Hobart Hurricanes vs Melbourne Stars @ \$300 each	\$600	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
6 Jan 2021	Minister Rockliff	Devonport Racing Club	I x ticket - Devonport Cup Chairman's Luncheon @ \$75 each	\$75	Retained by the recipient
15 Jan 2021	Premier Gutwein	MONA	4 × tickets - Mona Foma Royal Park @ \$30 each	\$120	Retained by the recipient
15 Jan 2021	Minister Courtney	MONA	2 × tickets - Mona Foma Royal Park @ \$30 each	\$60	Retained by the recipient
27 Jan 202 I	Minister Ferguson	Tasmanian Hospitality Association	2 × tickets - Launceston 'Night at the Races' @ \$135 each	\$270	Retained by the recipient
3 Feb 2021	Minister Archer	Tas Theatre Company	I x bunch of flowers	\$80	Retained by the recipient
3 Feb 2021	Minister Ferguson	Urban Greek	I × bottle - Mastika Spirit Skinos 700ml	\$56	Retained by the recipient
4 Feb 2021	Minister Ferguson	Mr Karl Krause	I × Rock Lobster	\$80	Retained by the recipient
5 Feb 2021	Minister Barnett	Boeing Australia	I × 2014 \$10 Copper Antique Coin – Limited Edition – First Victoria Cross for the Royal Australian Navy Edwards ' Teddy' Sheean VC	\$500	Remain property of the Crown
5 Feb 2021	Minister Howlett	Tasmanian Racing Club	2 × tickets – Schweppes Tasmanian Derby Day Dinner @ \$145 each	\$290	Retained by the recipient
5 Feb 2021	Premier Gutwein	Boeing Australia	I × 2014 \$10 Copper Antique Coin – Limited Edition – First Victoria Cross for the Royal Australian Navy Edwards 'Teddy' Sheean VC	\$500	Remain Property of the Crown
7 Feb 2021	Minister Howlett	Tasmanian Racing Club	2 x ticket - Hobart Cup Luncheon @ \$335 each	\$670	Retained by the recipient
15 Feb 2021	Premier Gutwein	Ambassador of Korea	2 x lacquer-ware boxes inlaid with mother-of-pearl	\$120	Remain Property of the Crown
17 Feb 2021	Minister Archer	Port Arthur Historic Site Management Authority	I x book - Crooks Like Us by Peter Doyle	\$50	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
24 Feb 2021	Minister Courtney	Federal Group	2 × tickets - Launceston Cup Luncheon @ \$295 each	\$590	Retained by the recipient
24 Feb 2021	Premier Gutwein	Tasmanian Turf Club	2 × tickets - Launceston Cup Luncheon @ \$295 each	\$590	Retained by the recipient
24 Feb 2021	Minister Howlett	Tasmanian Turf Club	2 × tickets - Launceston Cup Luncheon @ \$295 each	\$590	Retained by the recipient
5 Mar 2021	Minister Courtney	The John Glover Society	2 x tickets - Glover Prize Cocktail Party @ \$110 each	\$220	Retained by the recipient
5 Mar 2021	Minister Howlett	Netball Tasmania	2 × tickets - Netball Game Magpies vs NSW Swifts @ \$70 each	\$140	Retained by the recipient
13 Mar 2021	Minister Rockliff	Pardon my French Catering Tasmania	I × ticket - Devonport Food and Wine Festival Gastronomy Long Table Event @ \$135 each	\$135	Retained by the recipient
13 Mar 2021	Minister Howlett	Tasmanian Trotting Club	I × ticket – Tasmania Pacing Club Official Dinner @ \$60 each	\$60	Retained by the recipient
17 Mar 2021	Minister Archer	Anthony Hope	I × book - The Remarkable Captain James Kelly of Van Diemen's Land by Anthony Hope	\$55	Retained by the recipient
22 Mar 2021	Minister Howlett	Tasmanian Racing Club	2021 Honorary Membership	\$280	Retained by the recipient
22 Mar 2021	Premier Gutwein	Swans District Football Club	2021 Club Membership	\$60	Retained by the recipient
23 Mar 2021	Minister Rockliff	Speedfox Consultancy	3 × pieces Aboriginal Artwork @ \$50 each	\$150	Retained by the recipient
24 Mar 2021	Premier Gutwein	Tasmanian Racing Club	2021 Honorary Membership	\$280	Retained by the recipient
22 Apr 2021	Premier Gutwein	Jansz Tasmania	I × bottle - Pontos Hills Vintage Cuvee 2017	\$50	Retained by the recipient
22 Apr 2021	Minister Archer	Jansz Tasmania	I × bottle - Pontos Hills Vintage Cuvee 2017	\$50	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
25 Apr 2021	Premier Gutwein	Hawthorn Football Club	I × ticket - President's Luncheon Hawthorn vs Adelaide @ \$380 each	\$380	Retained by the recipient
27 Apr 2021	Minister Rockliff	Jansz Tasmania	I × bottle - Pontos Hills Vintage Cuvee 2017	\$50	Retained by the recipient
27 Apr 2021	Minister Barnett	Jansz Tasmania	I × bottle - Pontos Hills Vintage Cuvee 2017	\$50	Retained by the recipient
14 May 2021	Minister Courtney	The Empire Hotel Queenstown	2 × nights' Accommodation for 120 th Birthday Celebrations @ \$115 each	\$230	Retained by the recipient
15 May 2021	Premier Gutwein	Hawthorn Football Club	I x ticket - President's Luncheon Hawthorn vs North Melbourne @ \$380 each	\$380	Retained by the recipient
15 May 2021	Minister Howlett	Hawthorn Football Club	I x ticket - President's Luncheon Hawthorn vs North Melbourne @ \$380 each	\$380	Retained by the recipient
16 May 2021	Minister Howlett	Tasmanian Racing Club	I x ticket – Aviso TAS Pink Cup Race Day @ \$145 each	\$145	Retained by the recipient
20 May 2021	Minister Archer	Family Law Practitioners	I × ticket – Justice Benjamin's Retirement Dinner @ \$130 each	\$130	Retained by the recipient
I June 2021	Premier Gutwein	Webuild	I × book - <i>Raphael 1520-1483</i> by Marzia Faietti and Matteo Lafranconi	\$100	Remain property of the Crown
4 June 2021	Minister Howlett	North Melbourne Football Club	North Melbourne Football Club 2021 branded merchandise	\$199	Retained by the recipient
5 June 2021	Minister Petrusma	Clifton Beach Surf Life Saving Club	2 × tickets - 2021 Annual Dinner and Presentation Evening @ \$35 each	\$70	Retained by the recipient
7 June 2021	Premier Gutwein	Ambassador of Japan	I × Icchodo Photo Frame	\$236	Remain property of the Crown
7 June 2021	Minister Jaensch	Ambassador of Japan	I × bottle - Dassai 45 Sake 720 ml	\$50	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
13 June 2021	Minister Howlett	North Melbourne Football Club	I × ticket – Chairman's Luncheon North Melbourne vs GWS Giants @ \$360 each	\$360	Retained by the recipient
18 June 2021	Minister Archer	North Melbourne Football Club	2 × tickets - Chairman's Luncheon North Melbourne vs Brisbane @ \$360 each	\$720	Retained by the recipient
18 June 2021	Minister Barnett	Dairy Industry Association	I × bottle Marion's Vineyard Cabernet Sauvignon 2017	\$50	Retained by the recipient
19 June 2021	Minister Courtney	Dark MOFO	4 × tickets – Dark MOFO Winter Feast @ \$20 each	\$80	Retained by the recipient
20 June 202 I	Premier Gutwein	Hawthorn Football Club	I × ticket - President's Luncheon Hawthorn vs Essendon @ \$380 each	\$380	Retained by the recipient
21 June 2021	Minister Jaensch	Tasmanian Hospitality Association	I × ticket - Tasmanian Hospitality Association Awards Dinner @ \$195 each	\$195	Retained by the recipient
21 June 2021	Minister Petrusma	Tasmanian Hospitality Association	I × ticket - Tasmanian Hospitality Association Awards Dinner @ \$195 each	\$195	Retained by the recipient
21 June 2021	Minister Howlett	Tasmanian Hospitality Association	I × ticket - Tasmanian Hospitality Association Awards Dinner @ \$195 each	\$195	Retained by the recipient
26 June 202 I	Premier Gutwein	North Melbourne Football Club	I × North Melbourne Football Club 2021 Signed Home Guernsey @ \$130 each	\$130	Retained by the recipient
26 June 2021	Premier Gutwein	North Melbourne Football Club	I x ticket - Chairman's Luncheon North Melbourne vs GWS Giants @ \$360 each	\$360	Retained by the recipient
28 June 202 I	Minister Archer	North Melbourne Football Club	2 x tickets - Chairman's Luncheon North Melbourne vs Gold Coast @ \$360 each	\$720	Retained by the recipient
28 June 2021	Minister Rockliff	Paul A C Richards AM	I × book - lodophor, Tamed lodine, The Status of lodine in Tasmania by Paul A.C. Richards and Colleagues	\$50	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
30 June 2021	Minister Courtney	Festival of Voices	2 × tickets – Tasmania Sings @ \$29 each	\$58	Retained by the recipient
1 July 2021	Minister Barnett	Webuild	I x book - <i>Raphael 1520-1483</i> by Marzia Faietti and Matteo Lafranconi	\$100	Retained by the recipient
2 July 202 I	Minister Courtney	Junction Arts Festival	2 × tickets – Festival Launch Party @ \$30 each	\$60	Retained by the recipient
5 July 2021	Minister Archer	Catholic Education Tasmania	I x ticket - Catholic Education Dinner @ \$150 each	\$150	Retained by the recipient
5 July 2021	Minister Archer	Archipelago Productions	2 x tickets - Winterreise performance @ \$69 each	\$138	Retained by the recipient
7 July 2021	Minister Howlett	Tourism Industry Council of Tas	I x ticket – Tasmanian Tourism Investment Lunch @ \$129 each	\$129	Retained by the recipient
12 July 2021	Premier Gutwein	Consul General of Japan	I × Rose-shaped silver Pot Stand @ \$120 each 2 × Lacquer Tumblers @ \$67 each	\$254	Remain property of the Crown
15 July 2021	Minister Courtney	Master Builders Tasmania	2 × tickets – Master Builders Tasmania President's Lunch @ \$65 each	\$130	Retained by the recipient
16 July 2021	Minister Courtney	Launceston Distillery	I × gift pack - 3 bottles Single Malt Whisky 100ml	\$100	Retained by the recipient
26 July 2021	Minister Howlett	Tasmanian Women in Agriculture	2 x books - A Place in the Stockyard Celebrating Tasmanian Women in Agriculture by Fiona Stocker @ \$40 each	\$80	Retained by the recipient
28 July 202 l	Minister Barnett	Tas Minerals and Energy Council	x ticket – TMEC Conference Dinner @ \$155 each	\$155	Retained by the recipient
29 July 202 I	Minister Howlett	Shene Distillery	I × bottle - Shene Distillery Whisky 700ml	\$350	Retained by the recipient
31 July 2021	Minister Petrusma	North Melbourne Football Club	2 x tickets — Chairman's Luncheon North Melbourne vs Geelong @ \$360 each	\$720	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
31 July 2021	Premier Gutwein	North Melbourne Football Club	I x ticket - Chairman's Luncheon North Melbourne vs Geelong @ \$360 each	\$360	Retained by the recipient
31 July 2021	Minister Howlett	North Melbourne Football Club	I x ticket – Chairman's Luncheon North Melbourne vs Geelong @ \$360 each	\$360	Retained by the recipient
I Aug 2021	Minister Rockliff	Hawthorn Football Club	I x ticket - Hawthorn President's Lunch Hawthorn v Brisbane Lions @ \$380 each	\$380	Retained by the recipient
5 Aug 2021	Minister Jaensch	William Adams CAT	4 x CAT Logo Baseball style Caps @ \$20 each	\$80	Retained by the recipient
9 Aug 2021	Premier Gutwein	Geelong Football Club	I × Geelong Football Club 2021 signed guernsey @ \$130 each	\$130	Retained by the recipient
14 Aug 2021	Minister Howlett	Hawthorn Football Club	I × ticket – Hawthorn President's Lunch Hawthorn vs Bulldogs @ \$380 each	\$380	Retained by the recipient
21 Aug 2021	Minister Howlett	Sandy Bay Football Club	I × ticket – Sandy Bay Football Club last home game @ \$60 each	\$60	Retained by the recipient
23 Aug 2021	Minister Courtney	Catholic Education Tasmania	I × set Francesca earrings	\$70	Retained by the recipient
23 Aug 2021	Minister Jaensch	Catholic Education Tasmania	I x ticket - Catholic Education Tasmania 200 Years Celebration Dinner @ \$150 each	\$150	Retained by the recipient
28 Aug 2021	Premier Gutwein	AFL Tasmania	I x ticket - AFL Corporate Box Elimination final Sydney vs GWS Giants @ \$395 each	\$395	Retained by the recipient
29 Aug 2021	Premier Gutwein	AFL Tasmania	I x ticket - AFL Corporate Box Elimination Final Western Bulldogs vs Essendon @ \$450 each 6 x tickets AFL Elimination Final Western Bulldogs vs Essendon @ \$35 each	\$660	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
29 Aug 2021	Minister Howlett	AFL Tasmania	I x ticket – AFL Corporate Box Elimination final Western Bulldogs vs Essendon @ \$450 each	\$450	Retained by the recipient
30 Aug 2021	Minister Courtney	Junction Arts Festival	2 × tickets – Jingled performance @ \$35 each	\$70	Retained by the recipient
30 Aug 2021	Minister Courtney	Junction Arts Festival	2 × tickets – Bond Bassey & Barbra performance @ \$30 each	\$60	Retained by the recipient
Sept 2021	Minister Barnett	Legacy Australia	I x set of four Legacy Pins	\$250	Retained by the recipient
7 Sept 2021	Minister Archer	Consul General China (Melbourne)	I x box Hong Kong Mei Xin Mooncakes (White Lotus Seed Paste with 2 Egg Yolks 740g	\$89	Retained by the recipient
9 Sept 2021	Premier Gutwein	Consul General China (Melbourne)	I x box Hong Kong Mei Xin Mooncakes (White Lotus Seed Paste with 2 Egg Yolks 740g	\$89	Retained by the recipient
9 Sept 2021	Minister Barnett	Consul General China (Melbourne)	I x box Hong Kong Mei Xin Mooncakes (White Lotus Seed Paste with 2 Egg Yolks 740g	\$89	Retained by the recipient
10 Sept 2021	Minister Ferguson	Tasmanian Railway Pty Ltd	2 × framed photographs	\$100	Retained by the recipient
13 Sept 2021	Premier Gutwein	Kingborough Tigers Football Club	I × Kingborough Tigers Football Club team hoodie	\$80	Retained by the recipient
16 Sept 2021	Minister Archer	Archipelago Productions	2 × tickets - <i>The Maids</i> performance @ \$88 each	\$176	Retained by the recipient
21 Sept 2021	Premier Gutwein	Cricket Tasmania	I × book - On the Front Foot, the Rise of Tasmanian Women's Cricket by Jacqui Triffitt	\$60	Remain property of the Crown
21 Sept 2021	Minister Howlett	Cricket Tasmania	I × book - On the Front Foot, the Rise of Tasmanian Women's Cricket by Jacqui Triffitt	\$60	Remain property of the Crown
22 Sept 2021	Minister Howlett	AFL Tasmania	I × ticket – Chairman's Club AFL Grand Final Melbourne vs Western Bulldogs @ \$650 each	\$650	Retained by the recipient

Date Declared/ Received	Recipient	Donor	Description	Est. Total Value	Disposition & Location
22 Sept 2021	Minister Archer	Hobart Horticultural Society	I × floral arrangement	\$75	Retained by the recipient
22 Sept 202 I	Minister Courtney	Tourism Industry Council Tasmania	2 × tickets – 2021 Tourism Awards Finalist Announcement @ \$30 each	\$60	Retained by the recipient
11 Oct 2021	Minister Rockliff	Consul General China (Melbourne)	I x box Hong Kong Mei Xin Mooncakes (White Lotus Seed Paste with 2 Egg Yolks 740g	\$89	Retained by the recipient
11 Oct 2021	Minister Courtney	Tasmanian Hospitality Association	I × dinner – Franks Restaurant @ \$106 each	\$106	Retained by the recipient
12 Oct 2021	Minister Archer	Real Estate Institute of Tasmania	2 × tickets – Real Estate Institute of Tasmania Awards for Excellence @ \$110 each	\$220	Retained by the recipient
12 Oct 2021	Minister Archer	Fight Cancer Foundation	I × ticket - Little Red Luncheon @ \$150 each	\$150	Retained by the recipient
15 Oct 2021	Minister Rockliff	North West Support School	I x framed Student Artwork ''Butterflies''	\$430	Retained by the recipient
20 Oct 2021	Minister Archer	Housing Industry Association	2 x tickets - HIA-CSR Tasmanian Housing and Kitchen & Bathroom Awards @ \$240 each	\$480	Retained by the recipient
22 Oct 2021	Minister Archer	Tourism Industry Council of Tasmania	2 × tickets - 2021 Tasmanian Tourism Awards Gala @ \$199 each	\$398	Retained by the recipient
22 Oct 2021	Minister Courtney	Encore Theatre Company	2 × tickets – <i>Mamma Mia</i> Theatre Production @ \$60 each	\$120	Retained by the recipient